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LA L3 FERI N ] LA'IVS HRAE # E | B g = i
REEET (RBFEZHE) 45 [(AB)| 45.00 = 4500
TEFEZHEA
RBFEEEEB 45 [ (AB)| 45.00 = 2500




5. BEEYW H EZI
[Lant TERA[ERT [ L2 IR [BEDRET | E H #E £ (1)
LA L3 FERI LA V4 $8E LA LS 3R #H 2 | B 5 = 5 %
BERET SEEBRT S [E 4308 | m 43.08 = 43.08 [97kg/0.79m
HERBAIR FEEERIOVY
(53)] t 43.08x97 / 0.79 / 1000 = 5.29
SEILBRER
BEMEIELT |- MEamEiEL (5 077 m3 0.16 X 48.08/10 = 0.77 |2.35t/m3
SEEBERIOVERE
(18)] t 0.77%2.35 = 1.81
BRER
Y- MEEMEEL | S5 AR 0.05| m3 119/1000/2.5 = 0.05 |35 7K #t
hany &Y 119kg/m (F7K3E)
A1%400
B3l 15ecmEL T 13874 | m 43.08+0.15+5.99+0.90+0.50 = 50.62
H3E12cm
43.18+0.15+1.24+4.19+16.06+23.30 = 88.12
3184547 t=3cm
TR [15emlL T 14593 | m2 21.62+6.03 = 27.65
H3E12cm
53.73 = 53.73
184547 t=3cm
64.55 = 64.55
AV ZAZUK 3em
BEYMIIRLT |HERBHRE 588 m3 27.65 % 0.12-0.05 X 0.35 x (43.08+0.15)—(0.50 X 0.04+0.05 X 0.35) X (5.99+0.15) = 2.33 |2.30t/m3
EE12cm - (SE A E PR E RS cm) — (—A%ER: X B IR KR
(53.73+64.55) X 0.03 = 3.55
$HE447° t=3cm + AV RHE2K3cm
(135)] t 5.88 X 2.30 = 13.52
HiE12cm+5E t=3cm




(LA TERH[ERT [ vane T:@ [BEYRET B M = ' (2)
LA'L3 FER LAL4 H#EE LAWS it | $ B | B " K w &
EiffnET BB nzm oo 3.02| m3 5.29/2.35+0.77 = 302 |AIFEEE
ey lnd ) SHERRT Oy oS BERRT o ER TR 225
% R . Bl —
BEBE - 4.0km (7.1)] t 3.02x2.35 = 7.10
HELBREERE

BB spzgan 1o h 005| m3 0.05 = 005 |AIFEEZ
eprir g iy SHERRI Oy S BERRT AR TR 225
5% (k) . B —
BEBE - 4.0km (0.1)] t 0.05 % 2.50 = 0.13

HELBREERE

X IE BRI T AT 583 m3 5.88 = 5.88 (#HE K
23 . 7 - _
3. EREERE 15 — HEMIFAS70-11
km = 0.00

A5 ERFERI 29— 302| m3 3.02 = 3.02

% (FEHR)
A5 ERFERI 2y —b 005| m3 0.05 = 0.05
% (8kA5)

a5 588 | m3 5.88 — 5.88
PRAERI 7277 00b
54

AL s 0.20 [ m3 0.023 X 0.12 x 50.62+0.023 X 0.03 X 88.12 = 020 | REE%
PRAER B (U V=0.023*t*L tERERRS LUIMIER ~ HE+SE E#29km
#K)
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